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Average Masses

Calculate the average masses (atomic mass) of the given atoms using the supplied data. Show
your work!!!! Use the periodic table to check answers (note that numbers may not be exact).

1. Isotope Mass in a.m.u.
SLi 6.015
L 7.016

Natural Abundance
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A Isotope Mass in a.m.u.
10p 10.0129
ig 11.0093

Natural Abundance
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199 + 882 = T10-81 amul

3, Isotope Mass in a.m.u.

magnesium — 24 23.985
magnesium — 25 24.986

magnesium — 26 25.983

Natural Abundance
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I$A5 + 2499 + 2.5l = [24.3l amu



